
MOON PHASES

In the blank circle, draw the moon phase we would see if we were on Earth in 
the diagram and then write the name of that moon phase on the blank line

NAME: _____________________________________                                                 Date:____________
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Use the diagram below to fill in the name of the moon phases for the position 
indicated by the letter

In the space below, draw a diagram with the Sun on the right, so that if we were 
on Earth we would see a waning crescent moon.

In the space below, draw a diagram with the sun on the left, so that if we were 
on Earth we would see a waxing quarter moon.

Base your answers to questions 61 through 63 on the diagram below, which shows the Moon at positions 
A through H in its orbit around Earth.

61 Which letters represent the two positions of the Moon when the least difference
between the levels of high and low ocean tides occur on Earth?   [1]

62 How many days does it take for the Moon to complete one cycle of phases as viewed
from Earth?   [1]

63 At which Moon position could a lunar eclipse occur?   [1]

Base your answers to questions 64 and 65 on the Luminosity and Temperature of Stars graph in the Earth
Science Reference Tables.

64 Describe the relationship between temperature and luminosity of main sequence
stars.   [1]

65 In which group of stars would a star with a temperature of 5000°C and a luminosity
of approximately 100 times that of the Sun be classified?   [1]
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A:  ________________________

C:  ________________________

D:  ________________________

E:  ________________________

G: ________________________

H:  ________________________


